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the fourth and final video in our
series on the Energy Efficiency
Opportunity Assessment tool. In
this video we’ll be going over
the details for the technical and
achievable potential calculations
that are part of the energy
efficiency potential path in the

tool.
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English Translation
Details of the Technical and Achievable | Moapo6Hble cBeaeHUA 0 TEXHUYECKOM U
Potential AOCTUXMMOM NOoTeHuuane
MALE SPEAKER: Hi, and welcome to | IOKJAOUMK (MYXCKOM TOJIOC) :

HoOpet neHb! IlpencrTaBiisgeM
BalleMy BHMMAHMIO 4YeTBepTOoe,
3aKJIOUMTEJIbLHOE BUIOEO M3 Hallen
cepmu, IOCBSINEHHOM MHCTPYMEHTY
«Ol11eHKa BO3MOXHOCTM I1OBHIIIEHUS
SHeprosdbekTUBHOCTU» . B 53TOM
BUIEO MH MMOOPOOHO OCTAaHOBMMCS Ha
pacyeTe TEeXHUUYECKOTO U
IOCTUMXMMOT'O IIOTEeHlMajyla, KOTOPHhE
ABJIAIOTCS YaCTh JIMHUM IIOTeHLMaJa

SHeEPTOo3QOEKTUBHOCTM IOAHHOTO

VMHCTPpYyMEeHTa .

So, before we dive in, we’ll
just define each of those iIn
real-world terms. So, the
technical potential i1s the

maximum theoretical potential if

the entire market adopted the

energy efficiency measures that

Ho npexme ueM HadaTh,
IaBamTe ONpeneyiMM DTU I[IOHATHUS C
IPaKTUUYECKOM TOUKM 3BPeHUs.
TexHUUEeCKUM [NOTEeHIMaJl — BTO
MaKCUMAaJIbHEIM TeopeTUUueCKMU
BO3MOXHHIM IIOTEeHIIMAaJl NIpU YCJOBUU,

€CJIM B€Cb PBHHOK IIpVMeT
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you’re looking at. Whereas the
achievable potential i1s the
potential that could actually be
realized 1T you implemented, say,
a utility demand-side management
program to, you know, encourage

the market to take up those

paccMaTprBaeMEle HaMU U3MepeHUs
sHeprosddbexkTUBHOCTM . 1OCTVXKMMEIL
IOTeHUMaJl — ®TO [IOTeHLMas,
KOTOPHM MOXeT OHTH QakKTUUeCKU
peannu30BaH IPU YCJOBUM BHEOPEHUH,
CKaxeM,

IpoTrpaMMEl yHNpaBJIeHUS

CIIPOCOM B 3SHepIreTUYeCKMX

measures. KOMIIQHUSAX, UYTOOB CTUMYyJIMPOBATH
PBIHOK MCIIOJIB30BAThH 3TU M3MEPEHUHA.
So, let’s dive into the MTak, NOPUCTYIVM K pacdueTam.

calculations. So the technical
potential starts with this E-
factor, or the energy consumption
for the relevant end use. And so,
this 1s entered in the tool. We
have your advanced inputs country
input tab, where, for instance,
for lighting, E would be the 508
for your total consumption
multiplied by 34 percent for your

end-use breakdown percentage.

Then the end use is multiplied by

PacueT TexXHMUECKOTO IIOTeHLMalla
HauMHaeTCcsa C ko»pduLImMeHTa
sHeprosddbexkTUBHOCTM (E) MIm
noTpebJieHud DHEePIUM OJIg
COOTBETCTBYWRIETO KOHEUHOTO
Ucnoyib30BaumMsa. OH BBOOMTCS B
MHCTPYMEHT. Y HAC e€CTb BKJlamka C
IIOOPOOHEIMM BXONOHBIMM IOaHHBMMU
CTpaHel, I'Ie, HalpMMep, IOJdg
ocrBelleHusa E omnpenmesgeTcd IIyTeM
ymMHOXeHMUsa 508 (obuee norpebieHUe)

Ha 34 $ (NpolleHT JeTajlM3alumu
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this R-factor, which is the
relevant percentage of the end
use. So, for instance, 1T we are
doing a measure that just wanted
to look at plug-in lighting, our
advanced i1nputs program tab can
specify the relevant percentage
of our end use. And so, for
instance, maybe we’d put, you
know, 30 percent or 40 percent,
whatever the percentage of
lighting consumption that’s from

plug-in fixtures rather than

permanent fixtures.

IIOJIE3HOTO MCIIOJIL30BAaHMA) . 3aTem
KOHEeUHOEe MUCIIOJIb30BaHMe yMHOXaeTCs
Ha KO»0dMLMeHT R, KOTOPHIM
ABJISETCH COOTBETCTBYI MM
IIPOLLEHTOM KOHEYHOTO
MCIOJIb30BaHUA. ECAM MBH HPOBOIMM
UBMEepEeHMEe C LeJIbl ONpelesiUMThb
TOJILKO OCBEIeHME OT CEeTeBOMU
PO3eTKM, Ha BKJIAIKEe C NOIPOOHBMM
BXONOHBEIMYM HOAHHEIMM IPOT'PaAMMBl MOXHO
yKaszsaThk COOTBETCTBYUIMM NIPOLEHT
KOHEUHOT'O MCIIOJIb30BaAHUA.
Hanpumep, MBI MOXEM B3AThH
30 mnm 40 npoueHTOB — JOOM
IPOLEHT NOTPebJIeHVS OCBEUEeHNS,
KOTOpOoe mimeT OT obopymoBaHMUSI,
IOIKJIIOYAaEMOTO OT PO3BETKM, a He OT

IIOCTOAHHO IIOIKJIDYWEHHOTI'O

OoBOopPynOBAHUA .

Then we need to apply a D-

factor here, which is our

distribution by model or

HaMm HeOoOXOoOmMMO NPUMEHUTH
3mecb KO3QbuumeHT D, KOTOPHEIM

npencrapisgeT cobo¥ pacrnpenejeHre
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efficiency levels. So, for
instance, here, we’re considering
two water heating measures. And
so, we need to distribute our
baseline opportunity, since these
are both looking at the same
baseline. Otherwise you could
simply add more and more measures
and get a higher potential out of
the same baseline opportunity,

which would not be realistic.

10 MOIeJjiaM WM YPOBHAM

sbbexTBHOCTM . Hanpumep, 30eChb ME
pPaccMOTpPVM IBa MU3MEepeHUus IJisd
TOpAYEerO BOOOCHaAOXeHMA. HaM HYXHO
pacopenelmUTbh Hally 0as0BYIO
BOBMOXHOCTB, Tak kKak oba »Tu
V3MEPEHMSI KacaknTCad OOHOM UM TOM Xe
0as0BOM BO3MOXHOCTM. B MNPOTMBHOM
ciydyae, IO Mepe noOaBJIeHUS
OoJpIETO UMCJla M3MEPEHUM, MBI
npocTo OyleM MoJydaTb OOJbIMM
IIOTEeHLUMaJl OT OIOHOM Das30BOMU
BO3MOXHOCTHM, UTO,

KOHEUHO, He

COOTBETCTBYET OEVICTBUTEJILHOCTH .

We then can further reduce
our relevant end use by this
penetration by high efficiency
measures factor, or H. And so,
this accounts for, say, for
instance with my lighting

measure, if my baseline is

incandescent, and my upgrade case

3aTeM MBI MOXEM elle YMEeHbIMUTDb
KOHEeUHOEe MCIIOJIbE30BAaHMEe Ha DTOT
oxXBaT M C OoJiee BHBHICOKUM
KODOOUUMEHTOM M3MEPEHUST
sbpexTmrHOCTM (H) . Ecnm, ckaxewm,
azoBad BO3MOXHOCTBL IJis
OCBelleHUs — BTO JiaMmIila

HaKaJIMBaHMAa, 4a BapMaHT
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is LED, well, 1 only want to
consider the percentage of
lighting that’s from
incandescents. And so, for
instance, maybe 20 percent is
from CFLs and LEDs and other
already high efficiency measures.
We then can specify that so that

we don’t, you know, double-count

any savings.

ODOHOBJIEHUS — CBETOIOMOIBI, MHE
HYXHO OyIeT pacCMOTPETb TOJIbKO
IIPOLIEHT OCBEUEHUS OT JiaMIl

o)

HakanuBaHus. M Tojgbko 20 % MOXeT
COCTAaBJIATH OCBEleHMEe OT
CBETOOMOOHEIX M KOMIIAKTHHX
JIIOMMHECLIEHTHHIX JlaMIl U IOPpYyTUX
Iokas3aTeJIeM UMBMEPEHUM, JOoKaz3aBIMX
CBOI0 BHICOKYIO D2HepTrosddekTMBHOCTL.
YUTO MBI

Torma MBI CMOXEM CKAaz3aThb,

He Yy4JIrM SKOHOMMK IBAXIEBL.

And then lastly, we multiply
by our measure percentage
savings, which is input on our
advanced i1nputs EE measure
database tab for each measure.
And you can see, based on the
measure name and the baseline,
what your percentage savings are

for each measure.

HakoHell, ME YyMHOXMVM
IIOJIydEeHHOE UMCJIO Ha [IOoKa3aTeJlb
SKOHOMUM B INPOLIEHTax, KOTOPHM
BBOIOMUTCSH Ha BKJlamke ©Oasbl ODaHHBIX
U3MepeHMsa 33 OJs8a KaxIoTro
U3MEPEeHMAa. BH YyBUIUTE NPOLIEHT
SKOHOMUM [OJIS KaXOOT'O U3MEePeHMd I10

Ha3BaAHMIO M3MEPEHVA U tazoBOM

BO3SMOXHOCTNM.

Moapo6Hble cBeAEeHUA O TEXHUYECKOM U AOCTUXKUMOM NOTeHLmane
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All right, so now onto the
achievable potential, which is a
little bit more of a daunting
formula. But basically what it
is, is two parts. We take our
technical potential for that year
and we multiply it by this
payback-corrected participation
S-curve. And so, although it
looks like a big formula, we’ll
break 1t down Into the simple
parts. First, there’s M, which is
our maximum participation, which
is equal to our maximum market
penetration, which Is entered for
each program here on the advanced
inputs program tab, multiplied by
our payback acceptance, which is
calculated for each measure based
on the information entered for

the payback acceptance rates

under the advanced inputs country

tab.

Tenepb HmaBaMTe IOCMOTPUM Ha
IOOCTWXVMMEIM I[IOTEHLMAJ, KOTOPLIM
paccumMTEBaeTCa IO 0OoJjiee CJOXHOM
dbopmysie. B HeM 1aBe yacTu. Mo
fbepeM TexXHUMUECKMM IOTEeHLMaJl 3a
ron M yMHOXaeM e€I'0 Ha 3HaueHUue S-—
00pPa3HOV KPMBOM yUaCTMA C YUEeTOM
KOPPEKTUPOBKIM BO3BpaTa
MHBeCTHLUM . PopMyJla KaxXeTcs
CJIOXHOM, HO Mbl pa300beM ee Ha
HECKOJIbKO IIPOCTHX YacTewn. MTak,
CHauajla eCThb 3HaueHue M — BTO
Halle MakKCMUMaJlbHOe ydacTue,
KOTOpOe PaBHO HalleMy
MakKCHUMaJIbHOMY OXBATy PBHKA,
3amaBaeMoMy IJIS KaXIOM MNPOTPaMMEL
Ha BKJIaZKEe C NONPOOHEIMM BXOIHEIMU
IOAaHHEIMM [POTPAaMME, YMHOXEHHOMY Ha
YPOBEHb MNPUEMIIEMOCTU OKYyIaeMOCTH,
KOTOPHM pPacCuUuMTHBaAETCHd IJid
KaxIoTo M3MEepeHMS Ha OCHOBEe

MH(I)OpMaLIMM, BBEIEHHOM Ha BKJAIKe

Moapo6Hble cBeAEeHUA O TEXHUYECKOM U AOCTUXKUMOM NOTeHLmane
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C TIOOPOOHBIMM BXOJHBIMM JaHHBIMMU

CTPAHEH .

Then, F 1s our first-year
participation, which is our
payback acceptance times max
market penetration, divided by
our ramp up rate. So, you can see
the only difference between these
two s dividing by our ramp up
rate, which 1s Input here in our

advanced inputs program tab.

3areM F — 5TO0 yuacTtHe B
IIEPBEIM T'OX, YTO NPEeICTaBJIAET
cobOoM yPOBEHb IIPUEMIIEMOCTU
OKYyIIaeMOCTM, YMHOXEHHEM Ha
MaKCHUMAaJIbHEIM OXBAaT pPBEHKA U
pasleJIeHHEV Ha I[IOBHIIAIMUMA
Ko20duLMeHT. EmmMHCTBEHHOE
oTIVYME, KOTOPOEe MH 3IOeChb BUIUM,
3TO IEeJIEHME Ha I[10BHIIAKIINI
KOBQOUIIMEHT, KOTOPHM BBOIMUTCS Ha

BKJIagKe C HOI[pO@HBIMM BXOIOHBIMMA

JaHHBIMM TIPOI'PAaMMEI.

And so, with our F and our M
covered, the final remaining
factor 1s this U, which i1s our
ramp up shape. And so, U is part
of the exponential which helps to

determine how quickly we

transition from our first-year

WTak, KoOT'Za Mbl pa3obpaliucCh
CO BHaueHumaMu F m M, y Hac
OCTaJiIoCh 3HaueHume U, KOTOpoe

npencTarjageT coboM KoO30bMLIMeHT

NOBHIIEHMA. U — 3TO YACTb
DKCIIOHEHTH, I[103BOJISKIAS
OTIPEeneJIUTh, HACKOJIBKO OBICTPO MEI
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participation to our maximum
participation. And so, you can
see that when your current year
that you’re looking at is equal
to your start year, this is going
to reduce, so that we get an M on
the bottom here, and then we get
the M”s canceling out, and our
first-year participation.
However, when we then have a
program year, say, like 20 years
after we start, then this is
going to reduce, so that we end
up with an F on the bottom. And

the F’s cancel out and we get our

maximum participation.

neperieM OT ydacTHus [IepBOTO I'onda
K MaKCMMaJIbHOMY ydacTui. MTak, BEH
BUIONTE, YTO ECJU TeKyluUn
paccMaTpMBaeEME T'OX paBeH Toay
Hauyajla, D2TO 3HAUeHMe OyIeT
CHMXATbCH, [NO3TOMY BHMI3Y ME BUIVM
M, BaTremM MB CBOIOMM M Ha HeT, 3TO
Hame ydacTue neproro roma. OIHAKO
3aTeM Yy HAaC €CThb I'OO NPOT'PaMMH,
Hanpumep, uepez 20 JjerT nocie
Hadvajla ee peaam3aumm, TorjJa BTOT
napaMeTp OyIeT CHMXAaTbCS, M BHUBY
okKaxeTrcd 3HaueHume F. 3Bartem F
CBOOMTCH Ha HET, M MH [IOJydaeM

Halle MaKCHMaJlIbHOe YydacTue.

So, that is the achievable
and technical potential formulas.
Thank you for joining us for this

video series. And I hope that

NTak, 3T0 GOPMYJH IJig
pacueTa IOOCTWMXMMOTO U
TEeXHUUECKOTO IMOTeHUMaJsIoB. Crnacubo

3a MNPOCMOTP BTOM CepumM BUOEO.
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these have been helpful In your

usage of the tool.

Hapewocb, 2TU 3HAHUA IIOMOT'YyT BaM B

VMCIIOJIB30OBAHMM ITJaHHOI'O

VMHCTPpyMeHTa .

END OF FILE

KOHEL] $AMJIA

Moapo6Hble cBeAEeHUA O TEXHUYECKOM U AOCTUXKUMOM NOTeHLmane

Ctp.9un39



